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2. Determine, using the values given in TABLE A, the current I in the
circuit of FIGURE 2 by:

(a) meshanalysis - L ALREADY Know THE ANSWER 1S =92 + A\730A

t
(b) nodalanalysis. )~ L NEEQ To FinD THE SAML ANSWER A< PRoua
USING NoDAL ANALYUSIS .
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THIS QQCUIT \& THE SAME AS THE ExAmCLE T 5
aTrACHED on fAGE @ (Fia. \4) But witwouT [T | €

e Paealfl ResisTANCE ACReS Va.

Vi ~ V2o~ Vo _ V2o I v - V30 & ey
2.3 yy= 7.5 7

V0 - V2o - V10 - V30 + MO-N30 =0
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- I NEED To SIMOL\FY “ 36 AND k. T wite Diwiee THEM Q4 4
V20 -~ V1o —(Ao-'z \hcb +(Ao-15\ho)+ A0 - V30

o 10

= ©

.~

T owit murees V2o (M) Xk and avo(N) x 2. Lens #
190 — 2N\2o ~(Ao-1\fm)+(;\o-15 \30) + VU0 - V2o = O



